The French Revolution: Chapter 9, Section 41 Background
1

Causes of the French Revolution {A Description of the Old Regime}


French Revolution occurs in one of the most advanced countries of the day
~Unlike the Chinese or the Russian revolution
~France was the center of the intellectual movement aka The Enlightenment


· [bookmark: _GoBack]Cause 1: The Estates System
· First Estate – ________________
· Second Estate – ______________
· Third Estate – ________________
Estates General – Countrywide parliament – has never met during the time of Louis XIV ( ______)
· Not very socially important
· What does the estates general show?
The First Estate: __________________________




The Second Estate: __________________________





The Third Estate: ______________ 








· Cause 2: National Consciousness

· Cause 3: Growing Public Opinion
· Enlightenment:
· Scandals, _________, ____________, ___________.

Did the Enlightenment directly lead to the Revolution?

· Cause 4: The Financial Crisis: To Be Continued… Section 42

Nobility 


Total Population: _____________


Noble Privilege


List the privileges:


Resurgence since Louis ____'s death under Louis ___ and ___ 


Land and Taxes


Leased land ( _______) to ______ estate, collected taxes/fees (___________)


Increased/reneweed dues to keep up with inflation


__________________










Upper crust:
 Third Estaters - Bourgeois influence


Strength of wealthy bourgeois


What do the Bourgeoise obtain?


Lower class:
 Third Estaters


Land owners through "______________________"


Total Population ________________


Ranges from:





Why do they still resent the nobility?





Wage problem:










Church


Total Population: _____________


Land and wealth


Church bodies owned between ___________ percent of all the land in the country


Size/ Importance





Upper Clergy: 





Divided _________ amongst clergy









